S A A, B SH 2L W (A-B)UX =X, (AUB)NX =X &
wHESHE A X 9 4T

A= {xlxE 89 %}, B = {xlxE 50I5t2] &4}

®2A @4  @chH @sH  © w04

B ~
(A-B)UX=X©°|BEE (A-B)cX
(AUB)NX=X°|BEE X C (AUB),
A={l1,2 4, 8,B=1{l, 3, 5}

{2,4,8} c X € {1,2,3,4,5,8}

AT X = JFAUB 9 REIY T U4 2, 4, 8& HIEA
Zgste Aol

s 203 =23 =8 (7))




@® 174 @ 274 ® 374 @47H ® 574

(A-B)cXcA,Z (3,45 cXci{l,23,4,5 o2& 3t X
o] Mg 2x 2 = 4(7H) ot




AAAF U = (1, 2, 3, 4, 5, 6, 7} o] = F23 A, B o thoto
ANB ={1, T, ANB=1{464d T & A E daygioez
UERYHAE?

@ 3, 5 @ {2, 3, 5, 6) ® {2, 3,5, 7)
@ {2, 3, 6) ® (2.3, 7)

—CB ~
U={1, 2 3, 4,5, 6,7,

A°NB ={1, T}=(AUB) o5 AUB = {2, 3, 4, 5, 6}
A°NB={4,6) = BNA° = B— A oA B o7 &351= Y47}
4, 60|B 2

A A 9 a2, 3, 50| watA A = {2, 3, 5} o|th.




(@){@} et

olck

® (o} ¢ 24

2 = (P|PCA) £ AT A & $EUTS ATL o]
At Ao FE2AT2 2,(1),{2), (4}, 11,2}, {1,4), 2,4}, {1

gt o 2 davdgywozr uey
(2,11}, 12}, {4}, {1, 2}, {1, 4} ,{2,4} {1, 2,4} } °].

ia
,2,4)

=)




ol

offg

SHT} 337 16 Bt

1:_
-

{x|x

G}

@ (10, 14, 16} AT A

< 17t

ke 27t}

ol

]

ZH_
g
i

A 49

—_—

247} 2749

@




A A = (x| v 20 oJ3k9] 69 uj) o THske] W@ A o BE
nuge] 940) g 75 ALY

i AT

D 122 @)144 ® 166 @ 188 ® 210

o] 4¥1¥ Eoj7tBZ
(6 +12 + 18) x 4 = 144 o]t}




